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QUESTION 1

Click the Exhibit button. 

When attempting to enroll an SRX Series device to JATP, you receive the error shown in the exhibit. What is the cause
of the error? 

A. The fxp0 IP address is not routable 

B. The SRX Series device certificate does not match the JATP certificate 

C. The SRX Series device does not have an IP address assigned to the interface that accesses JATP 

D. A firewall is blocking HTTPS on fxp0 

Correct Answer: C 

Reference: https://kb.juniper.net/InfoCenter/index? page=contentandid=KB33979andcat=JATP_SERIESandactp=LIST 

 

QUESTION 2

Exhibit. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. The c-1 TSYS has a reservation for the security flow resource. 

B. The c-1 TSYS can use security flow resources up to the system maximum. 

C. The c-1 TSYS cannot use any security flow resources. 

D. The c-1 TSYS has no reservation for the security flow resource. 
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Correct Answer: CD 

Explanation: https://www.juniper.net/documentation/en_US/junos/topics/topic- map/security-profile-logical-system.html 

 

QUESTION 3

Exhibit. 

Referring to the exhibit, a spoke member of an ADVPN is not functioning correctly. 

Which two commands will solve this problem? (Choose two.) 

A. [edit interfaces] user@srx# delete st0.0 multipoint 

B. [edit security ike gateway advpn-gateway] user@srx# delete advpn partner 

C. [edit security ike gateway advpn-gateway] user@srx# set version v1-only 

D. [edit security ike gateway advpn-gateway] user@srx# set advpn suggester disable 

Correct Answer: BD 

Explanation: https://www.juniper.net/documentation/en_US/junos/topics/topic- map/security-auto-discovery-vpns.html 
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QUESTION 4

All interfaces involved in transparent mode are configured with which protocol family? 

A. mpls 

B. bridge 

C. inet 

D. ethernet -- switching 

Correct Answer: B 

Explanation: In transparent mode, all interfaces involved are configured with the bridge protocol family. This allows the
SRX device to act as a bridge between the interfaces and forward traffic transparently without any modification. The
bridge interfaces can be configured to forward traffic based on layer 2 headers, such as MAC addresses, without the
need for routing or IP addressing. 

 

QUESTION 5

You are required to deploy a security policy on an SRX Series device that blocks all known Tor network IP addresses.
Which two steps will fulfill this requirement? (Choose two.) 

A. Enroll the devices with Juniper ATP Appliance. 

B. Enroll the devices with Juniper ATP Cloud. 

C. Enable a third-party Tor feed. 

D. Create a custom feed containing all current known MAC addresses. 

Correct Answer: AB 

Explanation: To block all known Tor network IP addresses on an SRX Series device, the following steps must be taken: 

Enroll the devices with Juniper ATP Appliance or Juniper ATP Cloud: both of these services provide threat intelligence
feeds that include known IP addresses associated with the Tor network. By enrolling the SRX Series device, the device 

will have access to the latest Tor network IP addresses, and it can then use this information to block traffic from those IP
addresses. Creating a custom feed containing all current known MAC addresses, is not a valid option since Tor network 

uses IP addresses, MAC addresses are not used to identify the Tor network. 

Enable a third-party Tor feed may be used but it\\'s not necessary as Juniper ATP Appliance and Juniper ATP Cloud
already provide the same feature. 

 

QUESTION 6

Exhibit 
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Which two statements are correct about the output shown in the exhibit. (Choose two.) 

A. The source address is translated. 

B. The packet is an SSH packet 

C. The packet matches a user-configured policy 

D. The destination address is translated. 

Correct Answer: AB 

 

QUESTION 7

You are connecting two remote sites to your corporate headquarters site; you must ensure that all traffic is secured and
only uses a single Phase 2 SA for both sites. 

In this scenario, which VPN should be used? 
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A. An IPsec group VPN with the corporate firewall acting as the hub device. 

B. Full mesh IPsec VPNs with tunnels between all sites. 

C. A hub-and-spoke IPsec VPN with the corporate firewall acting as the hub device. 

D. A full mesh Layer 3 VPN with the corporate firewall acting as the hub device. 

Correct Answer: A 

Explanation: https://www.juniper.net/us/en/local/pdf/app-notes/3500202-en.pdf 

 

QUESTION 8

Exhibit 

Referring to the exhibit, which three protocols will be allowed on the ge-0/0/5.0 interface? (Choose three.) 

A. IBGP 

B. OSPF 

C. IPsec 

D. DHCP 

E. NTP 

Correct Answer: BDE 

Explanation: The exhibit shows the output of the "show interfaces ge-0/0/5.0 extensive" command on an SRX Series
device. The output includes a section called "Security" that lists the protocols that are allowed on the ge-0/0/5.0
interface. 

The protocols that are allowed on the ge-0/0/5.0 interface are: 

OSPF 

DHCP 

NTP 

It\\'s important to notice that the output don\\'t have IBGP, IPsec, so these protocols are not allowed on the ge-0/0/5.0
interface. 
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QUESTION 9

Exhibit You are using trace options to verity NAT session information on your SRX Series device Referring to the
exhibit, which two statements are correct? (Choose two.) 

A. This packet is part of an existing session. 

B. The SRX device is changing the source address on this packet from 

C. This is the first packet in the session 

D. The SRX device is changing the destination address on this packet 10.0.1 1 to 172 20.101.10. 

Correct Answer: CD 

 

QUESTION 10

In Juniper ATP Cloud, what are two different actions available in a threat prevention policy to deal with an infected host?
(Choose two.) 

A. Send a custom message 

B. Close the connection. 

C. Drop the connection silently. 

D. Quarantine the host. 

JN0-636 PDF Dumps | JN0-636 Study Guide | JN0-636 Braindumps                              8 / 15

https://www.pass4itsure.com/jn0-636.html
https://www.pass4itsure.com/jn0-636.html
https://www.pass4itsure.com/jn0-636.html


https://www.pass4itsure.com/jn0-636.html
2024 Latest pass4itsure JN0-636 PDF and VCE dumps Download

Correct Answer: BD 

Explanation: In Juniper ATP Cloud, a threat prevention policy allows you to define how the system should handle an
infected host. Two of the available actions are: 

Close the connection: This action will close the connection between the infected host and the destination to which it is
trying to connect. This will prevent the host from communicating with the destination and will stop any malicious activity. 

Quarantine the host: This action will isolate the infected host from the network by placing it in a quarantine VLAN. This
will prevent the host from communicating with other devices on the network, which will prevent it from spreading
malware 

or exfiltrating data. 

Sending a custom message is used to notify the user and administrator of the action taken. Drop the connection silently
is not an action available in Juniper ATP Cloud. 

 

QUESTION 11

Exhibit 
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Referring to the exhibit, which statement is true? 

A. This custom block list feed will be used before the Juniper Seclntel 

B. This custom block list feed cannot be saved if the Juniper Seclntel block list feed is configured. 

C. This custom block list feed will be used instead of the Juniper Seclntel block list feed 

D. This custom block list feed will be used after the Juniper Seclntel block list feed. 

Correct Answer: D 

 

QUESTION 12

Exhibit 
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You are not able to ping the default gateway of 192.168 100 1 (or your network that is located on your SRX Series
firewall. Referring to the exhibit, which two commands would correct the configuration of your SRX Series device?
(Choose two.) 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 
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QUESTION 13

Exhibit. 

Referring to the exhibit, which two statements are true? (Choose two.) 

A. The configured solution allows IPv6 to IPv4 translation. 

B. The configured solution allows IPv4 to IPv6 translation. 

C. The IPv6 address is invalid. 

D. External hosts cannot initiate contact. 

Correct Answer: AC 

 

QUESTION 14

Exhibit 
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You are trying to configure an IPsec tunnel between SRX Series devices in the corporate office and branch1. You have
committed the configuration shown in the exhibit, but the IPsec tunnel is not establishing. In this scenario, what would
solve this problem. 

A. Add multipoint to the st0.0 interface configuration on the branch1 device. 

B. Change the IKE proposal-set to compatible on the branch1 and corporate devices. 

C. Change the local identity to inet advpn on the branch1 device. 
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D. Change the IKE mode to aggressive on the branch1 and corporate devices. 

Correct Answer: C 

 

QUESTION 15

Exhibit 

Which two statements are correct about the output shown in the exhibit? (Choose two.) 

A. The packet is silently discarded. 

B. The packet is part of an existing session. 

C. The packet is part of a new session. 

D. The packet is explicitly rejected. 
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Correct Answer: CD 
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